Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemure kaxayr 3axauy. OTrTBeTHI
1) How many kpas does a npsMoyroibHas npusMa have?
1.
2) How many kpas does a cdepa have?
2.
3) How many Bepiunsl does a TpeyrosibHas npusma have? 3
4) How many muna does a npsMoyronbHas npu3ma have? 4.
S) How many sura does a npsmMoyrosibHas nupamuaa have? 3.
6) How many kpas does a npsmoyrosnsHas nupamuaa have? 6.
7.
7) How many kpas does a TpeyroibHas npusma have?
8.
8) How many nuua does a npsiMmoyrosbHas nmupamua have?
9.
9) How many kpas does a npsMoyroybHas mupamuaa have?
10.
10) How many Bepumnsl does a cdepa have?
11.
11) How many nuua does a ky0 have? b
12) How many muua does a cdepa have? 13
13) How many kpas does a xy6 have? 14.
14) How many Bepiuunsl does a mpsAMOyrobHas nmpusMa have? 15.
16.
15) How many Bepumnsl does a Kky6 have?
17.
16) How many Bepmmnbl does a npsMoyroyibHas nupamuaa have?
18.
17) How many Bepiunsl does a npsiMoyrosibHas mupamuia have?
18) How many nuna does a TpeyronbHas npusma have?
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XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many kpas does a npsMoyroibHas npusMa have? 12
1.
2) How many kpas does a cdepa have? 0
2.
3) How many Bepumnbt does a TpeyroibHas npu3ma have? 3 6
4) How many nuia does a npsaMoyrosbHas npusma have? 4. 6
S) How many sura does a npsmMoyrosibHas nupamuaa have? 3. 4
6. 6
6) How many kpas does a npsmoyrosnsHas nupamuaa have?
7. 9
7) How many kpas does a TpeyroibHas npusma have?
8. S
8) How many nuua does a npsiMmoyrosbHas nmupamua have?
9. 8
9) How many kpas does a npsiMoyroibHas upamua have?
10. 0
10) How many Bepumnsl does a cdepa have? 6
11.
11) How many sura does a ky6 have? b 1
12) How many muua does a cdepa have? 13 12
13) How many kpas does a xy6 have? 14. 8
14) How many Bepiuunsl does a mpsAMOyrobHas nmpusMa have? 15. 8
16. 5
15) How many Bepumnsl does a Kky6 have?
17. 4
16) How many Bepumnsl does a npsiMoyroJibHast mupamuia have?
18. 5
17) How many Bepiunsl does a npsiMoyrosibHas mupamuia have?
18) How many nuna does a TpeyronbHas npusma have?
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